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For any colour, Yy=100, D65
[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

-0,8 0,0 0,8 1,6

ag=xly

525Mm|-m575 600

Vm o V)FS)\
50
MA=S)
-0,8 29
e -1,6
9495¢,E
>
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CIE 1931 X s
0,0 400 J
0,0 0,2 0,4 0,6 0,8 1,0 £ chromaticky diagram (ag, bg)
BE150-1A_1 BE150-2A_1
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 a=xly
Parame:
s2sMmlmss e0g. 625 700 M ter: Y
091_ 495¢,E Parame 0.0Tvy=5, 52V MLmszs o P| 62
ter: Y 50 S5 700
MyE 500c,E M\=S)49
-0,8 -0,8
510¢,E
525¢,E =
-16 3
o
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£
> &
<8r sorBe/ Sm/ | TS 550c,E 4
o For any colour, Yy,=100, D65 & For any colour, Yy=100, D65
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromgticity diagram (ay, by) &' | chromaticity diagram (ay, by)
BE150-3A_1 BE150-4A_1
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =(x-0,171)y
700
0.0 M L 600P °2—8.495¢E 0
’ 525V'M 5006.E Parame: g Parame:
V=S ! ter: Y M= ter: Y
M 510¢,E
08 525cE -08
4
= 550¢,E =
=] (=2}
&8 b 3
=) =)
£ £
¥ %
) B T -
? & e Sm S For any colour, Y\,=100, D65 <|=a7 For anyy colour, Yy=100, D65
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity diagram (ag, bs) o chromjaticity diagram (ag, by)
BE150-5A_1 BE150-6A_1
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =Xy
Parame:
625 100 L der Y
0,0 Parame: C0 500c.E
V, ter: Y VA=S) '
M 50 510c,E
_o,é -0,8 MA‘% 525¢,E
= =
g 2
© 4 o)
o o
£ £
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e G
& For any colour, Y\4=100, D65 & For any colour, Yy=1
s [max (fn) chromatic value?], Y | [max (m) chromatic valus],
£ chromaticity diagram (as, bs) & | chromaticity diagram (ag,

BE150-7A_1

BE150-8A_1

TUB-test chart BE15; CIEx, y) and chromaA*;, B*;)

515 o 525

I

520 Munsell System Y,=100
My, C=2 V=L1,2,5,84&9, D65
),?

irg the chromaticity diagram (x, y)

X,,=95,04,Y,,100,00Z,,=108,89
xw=0,3127y,,=0,3290

Ao = (8o~ ag,r) Y1g (YY1 13

Bo = (oo~ bo,0) Y1s (Y/Y191/3

ag = ag [X/Y]

bg = byo [/

=1, byp=-04

Bo

T10

( Ao
t t b
n=D65 -10 10
Q625 5
570
97950,E
500c E T
CIE 1931 X Munsell System Yy,=100
i C=2,V=1,2,5,8&9, D65 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*))
BEI51-1A_1 BE151-2A 1
Xw=95,04,Y,~100,00Z,~108.89 B, Xw=95,04,Y,,=100,002,~108,89 B,
*w=0,3127y,,=0,3290 20 X=0,3127y,,=0,3290 110
A1= (a1 Yig (Y/Yla)lj?' Ay = (@2 =ag ) Yig (Y/ Yla)]';a
By = (by ~ by ) Yig (/Y1913 Bp= (0~ by ) Y15 (/Y1913
ay = ag [(x-0,171)/y] 4L ay =2y [(x-0,17Dh] 4L
by = by [2/4] b=z [(Mp1x+bpy)/y]
ap0=1, byy= 0,4 A ax=1, byo= 0,4 A
mr;=1,000by;=0,171 : / o Mp;=-0,169,0p,=0,39 @ 2
n = D65 -10 10 n = D65 -10 N 10
65 D65
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, D65 T-10 C=2,V=1,2,5,8&9, D65 T-10
chroma (A*,, B*) chroma (A*,, B*))
BE151-3A 1 BE151-4A 1
Xu=95,04,Y,~100,00,~108.89 B, Xw=95,04,Y,,~100,002,~108.89 B,
*w=0,3127y,,=0,3290 10 X=0,3127y,,=0,3290 40
A3=(a3~a3p) Y18 (Y/Yla)ig Ag=(@g=agp) Yig (Y/ Yls)ig
B3 = (b3~ ) Y15 (Y/Y19) By = (bg —by,p) Y15 (Y/Y19)
ag = a0 [(x-0,1721y] 1 ay =a[(x-0,17Dh] 4L
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
ap0= 1, byg= ~0,4 ax=1, byo= 0,4 A
Mp1=-0,974,b,=0.658 | ya) \3 Mp1=-0,160,b5,=0,389 4
n = D65 -10 ' 10 n = D65 ~10 2 10
é/DGS D65
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, D65 T-10 C=2,V=1,2,5,8&9, D65 T-10
chroma (A*3, B*3) chroma (A*y, B*,)
BEI51-5A 1 BE151-6A 1
X=95,04,Y,~100,002,~108.89 B, Xw=95,04,Y,,=100,002,~108,89 B,
*w=0,3127y,,=0,3290 Lo X=0,3127y,,=0,3290 110
As=(a5~asp) Y18 (Y/Yla)ig As=(@s~agn) Y18 (Y/Yls)ig
Bg = (b5 —bs,p) Y15 (Y/Y1g) Bg = (b —bg,r) Y15 (Y/Y19)
a5 = a0 [(x-0,172/y] + 85 = ago [X/y] A
bs=hs0 [(Mp1x+bp1)/y] b=z [(Mpx+bp1)/y]
ay=1, byp=-04 ay=1, byp=-0,4
Mp1=-0,974=0,658 ya) As mp;=-0974b,=0858 /7] As
n=D65 -10 ' 10 n=D65 -10 ' 10
é/DGS \ 65
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, D65 T-10 C=2,V=1,2,5,8&9, D65 T-10

chroma (A*s, B*g)

chroma (A*g, B*¢)

BE151-7A_1

BE151-8A_1

input: w/rgb/cmyk —> rgb
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For any colour, Yy=100, D50
[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

-0,8 0,0 0,8

1,6

ag=xly

525M m Lm575

20Tv)=s,

600

MA=S)
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CIE 1931 X = =
5 i [max (m) khromatic value?],
0,0 0,2 0,4 0,6 0,8 1,0 £ chromaticity diagram (ag, bg)
BE150-1A_2 BE150-2A_2
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 a=xly
M Parame:
525 M575 600 625 700 ter Y
001_ i 495¢,E 0,07y, =5, 522Mm Lmszs
s Re farane s 0P o
M)\=S)\ D50 500c¢,E \/|)\:S;\49
-0,8 -0,8
3 510c,E
525¢,E =
-16 3
o
=)
> 3
<8r T Bef Sm[| TS 550c,E 4
o For any colour, Yy,=100, D50 & For any colour, Yy=100, D50
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromgticity diagram (ay, by) &' | chromaticity diagram (ay, by)
BE150-3A_2 BE150-4A_2
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =(x-0,171)y
625 700
L 600P) 495¢,E —
o s2Mm IE7S Re [sooce Parame: o —stzgmemWS 600 Parame:
V=S, © ter: Y M)=[5)80 o2 L ter: Y
M D50 5100€ 49 D50 Re Tsooce
—O,é SERE(E -0,8 510c,E
525¢,E
4
% 550¢,E § 550¢,E
0 ®  gars
© 4 (32}
g & |17 8em| |Ts
£ £
: g
o IS -
? & For any colour, Yy,=100, D50 <|=a7 For anyy colour, Yy=100, D50
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity diagram (ag, bs) o chromjaticity diagram (ag, by)
BE150-5A_2 BE150-6A_2
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =Xy
o0 o Parame:
o = 60?625 625 CIEter. Y
'V 500¢,E E;_’i(me 500¢,E
D50 510cE 510¢,E
_'g|§ 525¢,E 525¢,E
= 550¢,E
=]
8 4
(=)
¥
s s
le For an colour, Y\4=100, D50 For any colour, Yw=108, D50
s [max (fn) chromatic value?], [max (m) chromatic valus?],
£ chromaticity diagram (as, bs) chromaticity diagram (ag, By

BE150-7A_2

BE150-8A_2

TUB-test chart BE15; CIEx, y) and chromaA*;, B*;)

oS 520 525 Munsell System Y,=100 Xy=96,42.Y,,~100,00,Z,,=82,49 B0
08 72\ C=2, V=1, 2,5,8 &9, D50 %w=0,3457y,,=0,3585 110
510 rgstohe chromaticity diagram (x, y) Ao=@o-2g,) Yis (Y,Ym)ig
Bo = (bo —bo,r) Y15 (Y/Y19)
a9 = ago [x/y] 1
by = byo [2/4]
=1, byp=-04
Ao
t t b
n=D50 -10 10
0
CIE 1931 X Munsell System Yy,=100
i C=2,V=1,2,5,8&9, D50 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*))
BEISI-1A 2 BEI51-2A 2
Xu=96,42,Y,~100,002,~8249 B, Xu=96.42.Y,,=100,002,~8249 B,
X=0,3457y,,=0,3585 10 X=0,3457y,,=0,3585 110
A1= (a1 Yig (Y/Yla)lj?' Ay = (@2 =ag ) Yig (Y/ Yls)]';?’
By = (by ~ by ) Yig (/Y1913 Bp= (0~ by ) Y15 (/Y1913
ay =y [(x=0,171/y] A =y [(x-0,171/] 4L
by = by [2/4] b=z [(Mp1x+bpy)/y]
ap0=1, byy= 0,4 A ax=1, byo= 0,4 A
mr;=1,000by;=0,171 : : o Mp;=-0,169,0p,=0,39 : 2
n = D50 -10 10 n = D50 —10 @ 10
50 50
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, D50 T-10 C=2,V=1,2,5,8&9, D50 T-10
chroma (A*,, B*;) chroma (A*,, B*))
BEL51-3A 2 BEI51-4A 2
Xu=96,42,Y,~100,002, 78249 B, Xu=96.42Y,~100,002,~8249 B,
*=0,3457y,,=0,3585 20 X=0,3457y,,=0,3585 40
A3=(a3~a3p) Y18 (Y/Yla)ig Ag=(@g=agp) Yig (Y/ Ym)ig
B3 = (b3~ ) Y15 (Y/Y19) By = (bg —by,p) Y15 (Y/Y19)
ag =ay [(x-0,171)/y] 4L ay =a[(x-0,17Dh] 4L
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
ay=1, byp=-04 ay=1, byp=-04
A; A,

Mp;=-0,974 b;=0,658

mp1=—0,169,bp;=0,389
n=D50 -10

n = D50 10
D50

Munsell System Y,,=100 Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, D50 T-10 C=2,Vv=1,2,5,8&9, D50 T-10
chroma (A*3, B*3) chroma (A*y, B*,)

BE151-5A_2 BE151-6A_2
X,=96,42,Y,=100,007,782,49 B, Xy=96,42,Y,=100,00Z,=82,49 B,
Xw=0,3457y,,=0,3585 110 Xw=0,3457Y,,=0,3585 T10

As = (a5~ a5 ) Yag (Y/Y191/3
Bs = (b5 ~ bs ) Y1g (Y/Y19 /3
a5 = apo [(x=0,17D/y] 1
bs=hs0 [(Mp1x+bp1)/y]
ay=1, byp=-04
Mp1=-0,974,b;=0,658
n=D50

Munsell System Y,,=100

As
10

Ag = (@5 = 8g) Y15 (Y/V191/3
Be = (5 ~ bg ) Yag (V/Y191/3
ag = ao [x/y] i
b=z [(Mpx+bp1)/y]
ay=1, byp=-0,4
Mp1=-0,974 bp;=0.658
n =D50

Munsell System Y,,=100

As
10

C=2,Vv=1,2,5,8&9, D50 T-10 C=2,Vv=1,2,5,8&9, D50 T-10
chroma (A*s, B*g) chroma (A*g, B*¢)
BE151-7A_2 BE151-8A_2

input: w/rgb/cmyk —> rgb
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For any colour, Yy=100, P40
M,...[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

0525

-0,8 0,0

08 1,6 agxly

20Tv)=s,

525Mm|-m575 600

My=S)
-0,8 -
-1,6
>
8
CIE 1931 X s
o T
0,0 0,2 04 06 08 1,0 5
BE150-1A_3 BE150-2A_3
-08 0,0 08 1,6 a=(x-0,171)y -08 00 0,8 1,6 a=xly

Parame:
sosMmlms7s e00. 625 700 ter: Y
0\9 - 495¢ E Parame. 0,0 VA=S)\ 52Mm Limszs
ter: Y 50
M= 500c,E A=S\ag
-0,8 -0,8
510¢,E
525¢,E =
-16 2
(3]
=)
> 3
§ 4 550¢,E 4
o For any colour, Yy=100, P40 & For any colour, Yy=100, P40
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromgticity diagram (ay, by) &' | chromaticity diagram (ay, by)
BE150-3A_3 BE150-4A_3
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =(x-0,171)y
625 700
L 600P) 495¢,E —
00 s2gm e Parame 0.9 =Sr2MmLmszs 500, Parame
V=S © ter: Y M)=[5)80 52 L ter: Y
” 510¢,E 49 P40 Re Leooce
—O,é SERE(E -0,8 510c,E
525¢,E
4
% 550c,E % 550c,E
g 8 |7 Ban/ |Ts
o o
T T
N -]
~ ©
o =1
? & For any colour, Yyy=100, P40 <|=a7 For anly colour, Yyy=100, P40
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity diagram (ag, bs) o chromjaticity diagram (ag, by)
BE150-5A_3 BE150-6A_3
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =Xy

0,0
V,

o

Parame:
ter: Y

For any colour, Y\4=100, P40
[max (fn) chromatic value?],
chromaticity diagram (as, bs)

bs=(~0,974+0,658)}

For any colour, Yy=108, P40
[max (m) chromatic valus
chromaticity diagram (ag, Py

ql,

BE150-7A_3

BE150-8A_3

TUB-test chart BE15; CIEx, y) and chromaA*;, B*;)

520 Munsell System Y,=100

515 1 525
M

C=2,V=1,2,5,8&9, P40
mirgstohe chromaticity diagram (x, y)

X,~100,93Y,,~100,00Z,=64,68 B,
xw=0,3799,,=0,3764 10
Ao = (8o~ ag,r) Y1g (YY1 13
Bo = (oo~ bo,0) Y1s (Y/Y191/3

a9 = ago [x/y]
by = byo [2/4]
=1, byp=-04 A,
t t t b
n = P40 -10 10
0
CIE 1931 X Munsell System Yy,=100
C=2,V=1,2,5,8&9, P40 -10
0,4 0,6 0,8 1,0 chroma (A*q, B*o)
BEI51-1A 3 BE151-2A_3
X,=100,93,,=100,002,64.68 B, Xw=100,93,,=100,002,64,68 B,
*=0,3799,=0,3764 20 Xw=0,3799y,,=0,3764 10
A1= (a1 Yig (Y/Yla)lj?' Ay = (@2 =ag ) Yig (Y/ Yla)]';a
By = (by ~ by ) Yig (/Y1913 Bp= (0~ by ) Y15 (/Y1913
ay =ag [(x-0,171)/y] 4L ay =2y [(x-0,17Dh]
by = by [2/4] b=z [(Mp1x+bpy)/y]
ap0= 1, b= -0,4 A ax=1, byo= 0,4 A
mp;=1,000,b5;=0,171 \ M Mp1=-0,160,b5,=0,389 2
n = P40 -10 ' 10 n = P40 10
P40
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P40 T-10 C=2,V=1,2,5,8&9, P40
chroma (A*,, B*;) chroma (A*,, B*))
BE151-3A 3 BE151-4A_3
X,=100,93Y,,=100,002,64.68 B, Xw=100,93,,=100,00Z,=64.68 B,
*=0,3799,=0,3764 20 Xw=0,3799y,,=0,3764 40
A3=(a3~a3p) Y18 (Y/Yla)ig Ag=(@g=agp) Yig (Y/ Yls)ig
B3 = (b3~ ) Y15 (Y/Y19) By = (bg —by,p) Y15 (Y/Y19)
ag =ay [(x-0,171)/y] 4L ay =a[(x-0,17Dh] 4L
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
ap0= 1, byg= ~0,4 ax=1, byo= 0,4 A
Mp1=-0,974,b,=0.658 | \3 Mp1=-0,160,b5,=0,389 4
n = P40 _10 ! ) 10 n = P40 -10 j_'_l%
P40 P40
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P40 T-10 C=2,V=1,2,5,8&9, P40 T-10
chroma (A*3, B*3) chroma (A*y, B*,)
BEL51-5A 3 BE151-6A 3
X,=100,93Y,,=100,00Z,~64.68 B, Xw=100,93Y,,=100,002,64,68 B,
*=0,3799,=0,3764 20 Xw=0,3799y,,=0,3764 10
As=(a5~asp) Y18 (Y/Yla)ig As=(@s~agn) Y18 (Y/Yls)ig
Bg = (b5 —bs,p) Y15 (Y/Y1g) Bg = (b —bg,r) Y15 (Y/Y19)
a5 =ag [(x-0,171)/y] 4L ag = ago [x/Y]
bs=hs0 [(Mp1x+bp1)/y] b=z [(Mpx+bp1)/y]
ay=1, byp=-04 A ay=1, byp=-0,4 A
mp;=-0,974,bp,=0,658 . S mp;=—0,974,bp,=0,658 n | NS
n = P40 -10 ' ) 10 n= P40 10 J U G
P40 40
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P40 T-10 C=2,V=1,2,5,8&9, P40 -10

chroma (A*s, B*g)

chroma (A*g, B*¢)

BE151-7A_3

input: w/rgb/cmyk —> rgb

BE151-8A_3
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For any colour, Yy,=100, AOO
[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

-0,8 0,0 0,8 1,6

ag=xly

525Mm|-m575 600

0,0 -
VA=S)
50
MA=S)
-08 "
-1,6
>
8
CIE 1931 X s
i [max (m)\ch¥omatic value?],
0,6 0,8 1,0 = chromaticity djagram (ag, b
BE150-1A_4 BE150-2A_4
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 a=xly
Parame:
625 700 ter: Y
o1= 495¢,E Parame 0.0Tv, =S, s2Mm Lme7s
ter: Y 50
My 500c,E A=S\ag
-0,8 -0,8
510¢,E
525¢,E =
_1 g
(3]
=)
3
) 2
< 550¢,E =l
o For any colour, Yy=100, AOO & For any colour, Yy=100, AOO
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromgticity diagram (ay, by) &' | chromaticity diagram (ay, by)
BE150-3A_4 BE150-4A_4
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =(x-0,171)y
625 700
L 600P) 495¢,E —
o s2Mm —— Parame: o —stzgmemWS 600 Parame:
V=S ! ter: Y M)=[5)80 522 L ter: Y
M 510c,E 49 00 Re Tsooce
—O,é SERE(E -0,8 510c,E
525¢,E
4
% 550c,E % 550c,E
8 4 & |f*s Bém/ |Ts
o o
£ £
N -]
~ ©
o -
? & For any colour, Yy,=100, AOO <|=a7 For anly colour, Yyy=100, AOO
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity diagram (ag, bs) o chromjaticity diagram (ag, by)
BE150-5A_4 BE150-6A_4
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =Xy
Parame:
®y 625 700 625 700  ter: Y
0,0 Parame: 0,0 ek
V- 500c,E ter: Y V)\:S)\ 500c,E
M 510¢,E 50 510c,E
_o,é 525¢,E -0,8 MA‘% 525¢,E
= 550¢,E =
B B
© 4 o)
o o
£ £
N N
~ ~
e G
& For any colour, Y\4=100, AOO & For any colour, Yy=1
s [max () chromatic value?], Y | [max (m) chromatic valus],
£ chromaticity diagram (as, bs) & | chromaticity diagram (ag,

BE150-7A_4

BE150-8A_4

oS 520 525 Munsell System Y,=100 Xy=109,84.Y,,=99,99,7,,=35,58 B0
08 1/ © Mm_C=2, V=1,2,5,8&9, A00 Xw=0,4475y,,=0,4074 +10
5 |rgst0he chromaticity diagram (x, y) Ao=@o-2g,) Yis (Y,Ym)ig
3 Bo = (bo —bo,r) Y15 (Y/Y19)
a9 = ago [x/y] 1
by = byo [2/4]
=1, byp=-04
Ao
j ,
n = AD -10 10
00
o CIE 1931 X Munsell System Yy,=100
3 C=2,V=1,2,5,8&9, A00 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*))
BE51-1A 4 BEI51-2A_4
X,=100,84,,=99,09.2,~3558 B, X,=109,84Y,,-09.992,-3558 B,
X=0,4475y,=0,4074 20 X=0,4475y,,=0,4074 110
A1= (a1 Yig (Y/Yla)lj?' Ay = (@2 =ag ) Yig (Y/ Yla)]';a
By = (by ~ by ) Yig (/Y1913 Bp= (0~ by ) Y15 (/Y1913
ay = ag [(x-0,171)/y] 4L ay =2y [(x-0,17Dh] 4L
by = by [2/4] b=z [(Mp1x+bpy)/y]
ap0= 1, b= -0,4 A ax=1, byo= 0,4 A
mp;=1,000,b5;=0,171 \ M Mp1=-0,160,b5,=0,389 R
n = A00 -10 ' 10 n = A00 -10 ' 10
A00 ‘ACO
Munsell System Yy, =1 Munsell System Y,,=100
C=2,V=1,2,5,8&9, T-10 C=2,V=1,2,5,8&9, A00 T-10
chroma (A*,, B*;) chroma (A*,, B*))
BE51-3A 4 BE151-4A 4
X,=100,84,,=99,99.2,~3558 B, X,=109,84Y,,=09.992,-3558 B,
X=0,4475y,=0,4074 20 X=0,4475y,,=0,4074 40
A3=(a3~a3p) Y18 (Y/Yla)ig Ag=(@g=agp) Yig (Y/ Yls)ig
B3 = (b3~ ) Y15 (Y/Y19) By = (bg —by,p) Y15 (Y/Y19)
a3 = a0 [(x-0,172/y] 4 ay =a[(x-0,17Dh] 4L
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
ax= 1, byy= -0.4 a0= 1, byo= ~0,4 A
Mp1=-0,974,b;=0.658 | \3 Mp1=-0,160,b5,=0,389 M
n = A00 -10 ' 10 n = A00 —10 10
A00 A00
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, A00 T-10 C=2,V=1,2,5,8&9, A00 T-10
chroma (A*3, B*3) chroma (A*y, B*,)
BEL51-5A 4 BEI51-6A 4
X,=100,84,,=99,99.2,~3558 B, X,=109,84Y,,-09.997,-3558 B,
X=0,4475y,=0,4074 20 X=0,4475y,=0,4074 110
As=(a5~asp) Y18 (Y/Yla)ig As=(@s~agn) Y18 (Y/Yls)ig
Bg = (b5 —bs,p) Y15 (Y/Y1g) Bg = (b —bg,r) Y15 (Y/Y19)
a5 =ag [(x-0,171)/y] + 85 = ago [X/y] A
bs=hs0 [(Mp1x+bp1)/y] b=z [(Mpx+bp1)/y]
ay=1, byp=-04 A ay=1, byp=-0,4 A
Mpy=-0,974 b,=0,658 . oD mp1=-0,974,b,,=0,658 N
n=A00 -10 ' 10 n = A00 —10 10
A00 00
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, A00 T-10 C=2,V=1,2,5,8&9, A00 T-10

chroma (A*s, B*g)

chroma (A*g, B*¢)

BE151-7A_4

TUB-test chart BE15; CIEx, y) and chromaA*;, B*;)

BE151-8A_4

input: w/rgb/cmyk —> rgb
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) 525 FOr

any colour, Y\y=100, EO0

M,...[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

-0,8 0,0

08 1,6 agxly

20Tv)=s,

525Mm|-m575 600

MA=S)
-08 "
e -1,6
9495¢,E
>
8
CIE 1931 X s
= 1
0,0 0,2 04 06 08 1,0 5
BE150-1A_5 BE150-2A 5
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 a=xly
Ml Parame:
525 M575 600 625 700 ter Y
0\9 =S ] R 495¢,E Parame 0,0 VA=S)\ 52Mm Lims7s
5 ter: Y 50
MyFS), E00 500¢.E A=Sha0
-0,8 -0,8
3 510c,E
525¢,E =
-16 3
(3]
=)
> 3
<8r 4oy Be/ S| | TS 550c,E 4
o For any colour, Yyy=100, EO0 <|5 For any colour, Yy=100, E00
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromgticity diagram (ay, by) &' | chromaticity diagram (ay, by)
BE150-3A_5 BE150-4A 5
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =(x-0,171)y
625 700
L 600P) 495¢,E —
o soMm=TTBTS - Parame: o —stzgmemWS 600 Parame:
V=S © ter: Y My=[5)80 525 700 ter: Y
S o Ro [A950E
M EOO ' E0O 500c,E
—O,é SERE(E -0,8 510c,E
525¢,E
4
= 550¢,E = 550c,E
] Q d4rs
© 4 (32}
=} S Bém Ts
£ £
¥ %
o s =
? & For any colour, Yy,=100, EO0 <|=a7 For anly colour, Yy=100, EOO
s [max () chromatic value?], e [max (fm) chromatic value?],
£ chromaticity diagram (ag, bs) o chromjaticity diagram (ag, by)
BE150-5A_5 BE150-6A 5
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =Xy
o o Parame:
625 625 ter: Y
0,0 75 600 b o C.E
V. 500¢,E te?-ri(me 500c,E
510¢,E 510c,E
_'g|§ £ 525¢,E 525¢,E
550¢,E

Ts

bs=(~0,974+0,658)}

For any colour, Y\4=100, EO0
[max (fn) chromatic value?],
chromaticity diagram (as, bs)

[max (m) chr
chromaticity

For any colour, Yyy=108, E00

omatic valus?],
diagram (ag, Py

BE150-7A_5

BE150-8A_5

TUB-test chart BE15; CIEx, y) and chromaA*;, B*;)

515 o 525

50
V
£of

520 Munsell System Y,=100
M,.C=2,V=1,2,58&09, E00
mig the chromaticity diagram (x, y)

X,=100,00,Y,,=100,00Z,~100,00 B,

Xw=0,3333y,,=0,3333 +10

Ao = (8o~ ag,r) Y1g (YY1 13

Bo = (oo~ bo,0) Y1s (Y/Y191/3

ag = ag [X/Y] d
bg = byo [/

=1, byp=-04

n =EO0

Ao

CIE 1931 X Munsell System Yy,=100
0 C=2,Vv=1,2,5,8&9, EO0 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*o, B*g)
BE151-1A 5 BE151-2A 5
X,=100,00,Y,,=100,00Z,~100,00 B, X,=100,00,Y,,=100,00Z,~100,00 B,
Xy=0,3333y,,=0,3333 10 X,=0,3333y,,=0,3333 EST
A= (ag =g ) Yag (VY1913 Ap = (8p ) Yag (VY193
By = (b~ by ) Y1 (VY1913 B2 = (b2~ by,) Y1 (VY1913
ay = apo [(x=0,17D/y] 2y =ay [(x-0,179H] 4L
by = by [2/4] b=z [(Mp1x+bpy)/y]
ay0=1, byg=-0,4 A 850=1, byg=-0,4 A
my1=1,000, 1 Mp;=-0,169/0p:=0,389 @ 2
n=EO00 10 n =EO0 -10 10
EOO0
Munsell System Y,,=100 Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, E00 T-10 C=2,Vv=1,2,5,8&9, EO0 T-10
chroma (A*,, B*;) chroma (A*,, B*))
BE151-3A 5 BEL51-4A 5
X,=100,00,Y,,=100,00Z,~100,00 B, X,=100,00,Y,,~100,00Z,~100,00 B,,
Xy=0,3333y,,=0,3333 10 Xy=0,3333y,,=0,3333 10

A3=(ag-agy) Yig (Y/Yla)lj?'
B3 = (b3~ bg) Y (Y/Y19)1/3

ag = agg [(x—0,17D/y] d

b3=byo [(Mp1x+0p1)/y]

a50= 1, byg= -0,4

Mp;=-0,974 b;=0,658 As
n = E00 -10 10
E00

Ay = (8g ~ ag) Yag (YY1 3
B4 = (bs — by, Y1 (VY1913
2y =ap[(x-0,179H]
b=z [(Mp1x+bpy)/y]
ay=1, byp=-04
Mp1=-0,160,b5,=0,389

Ay

n =EO0 10
EOO0
Munsell System Y,,=100 Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, E00 T-10 C=2,Vv=1,2,5,8&9, EO0 T-10
chroma (A*3, B*3) chroma (A*y, B*,)
BE151-5A_5 BE151-6A_5
X,~100,00,Y,,100,00Z,100,00 B X=100,00,Y,,=100,00Z,100,00 B,
xw=0,3333y,,70,3333 L0 xw=0,3333y,,=0,3333 T10

A5 = (85— as,) Y15 (Y/Y191/3
Bs = (bs ~ bs, ) Y1 (Y/Y191/3

a5 = apo [(x=0,17D/y] i

bs=byo [(Mp1x+0p1)/y]

ay=1, byp=-04

Mp;=-0,974 b, =0,658 As
n=E00 -10 10
E00

Munsell System Y,,=100
C=2,V=1,2,5,8&9, E00
chroma (A*s, B*g)

Ag = (@5 = 8g) Y15 (Y/V191/3

Be = (5 ~ bg ) Yag (V/Y191/3

ag = ao [x/y] i
bg=byg [(Mp1x+bp1)/y]

ay=1, byp=-0,4

Mp1=-0,974/ 58 As
n = E00 10 10
00

Munsell System Y,,=100

r-10

C=2,Vv=1,2,5,8&9, EO0 T
chroma (A*g, B*¢)

BE151-7A_5

BE151-8A_5

input: w/rgb/cmyk —> rgb
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For any colour, Yy=100, CO0 _ =X/ 520 Munsell System Y,,=100 Xy=98,07.Y,,=100,002,=118,22 B
° sst [max (m) chromatic value?], B up v 16 %=y Parame 0 8515 ° 525MmC=2' V=1, 2,5,8&9, CO0 xx=0,3100yx=o,3151 W g 10
o % c5r15roomat|<:|ty diagram (x, y) 525Mm|-m575 600 _ 625 700 ter: Y ;1 d |rgst0he chromaticity diagram (x, y) Ao= (@0 -2, Yig (Y,Ym)ig
S Wm 00Tvy=s, pa A\ Bo = (bg ~ bo,n) Y15 (Y/Y19)
g n ¥ 50s a9 = ago [x/y]
=. ATON i by = byo [2/4]
o -08 850=1, byg=-0,4
8 3, . & { t t A>°
o : n =C00 -10 10
58 g2 16 \ 6 %70 :
—h —h 3950, . 92950,
o= : 5 '
=D > o E
] \ o2 525¢,E
g %— CIE 1931 X g— = J o ! : CIE 1931 X Munsell System Yy, =100
- = i [max (m)\chromatic value?], X C=2,V=1,2,5,8&9, C00 -10
aﬁ 0.4 0,6 0,8 1.0 £ chromaticity diagram (ag, bo) 0,0 0.2 04 0,6 08 1.0 chroma (A*g, B*g)
S [y BE150-2A_6 BE151-1A_6 BE151-2A_6
~~ — — — — — —
= g 08 00 08 16 a=(x-0171)y 08 00 08 16 axly X,=98,07,Y,,=100,007,711822 B, X=98,07,Y,,=100,007,711822 B,
S Q EErEE Xw=0,3100y,,=0,3161 110 X=0,3100y,,~0,3161 110
T o s2sMmlms7s 600, 625 700 M ter: Y Ar=@ a0 Yig (Y/Yla)ig A= (-3 Yig (Y/Yla)ig
=0 091= 4950, Parame 00TV\=5\ 28N Lms7s 600 py o By = (b, — by ) Yig (Y/Y19) By = (bp — by Yag (Y/Y19)
—_ = ter: Y v _850 700 ay = agg [(x—0,171/y] 1 ap = ayg [(x—0,171)1y] 1
Q My ROOEE AT 40 by =byo [z by=bo [(Mp1X+bp1)/y]
oCc -0,8 -0,8 a=1, byy=-0,4 a0 =1, byp=-0,4
D CIT 510cE mr;=1,000, A mp1=—0,169,bp,=0,389 A
= n=Co00 10 n =C00 -10 10
(_'Q 525¢,E =
- ' C00 Co0
— = -1,6 2
c = 28
(-] ? + 1
O ¢ > 3
SE [T e | g
—_— o For any colour, Yy=100, CO0 & For any colour, Yy=100, CO0 Munsell System Y,,=100 Munsell System Y,,=100
5' w ,', [max (m) chromatic value?], S | [max (m) chromatic value?], C=2,V=1,2,5,8&9, C00 T-10 C=2,V=1,2,5,8&9, CO0O T-10
= m S chromdticity diagram (ay, by) &' | chromaticity diagram (ay, by) chroma (A*;, B*)) chroma (A*,, B*;)
o [N BE150-3A_6 BE150-4A_6 BE151-3A_6 BE151-4A_6
@ a 08 00 08 16 a=(x-0171) 08 00 08 16 %=(x-0171) Xw=98,07,,~100,002,~118,22 B, X=98,07.Y,=100,002,~118.22 B,
2 ® Xw=0,3100y,,=0,3161 110 Xw=0,3100y,,=0,3161 +10
o> m L 600PL S22 050 A3 = (a3~ a3 ) Y15 (Y/Y19) 1;2 As= @420 Yig (Y/Yls)ig
== 00 s29Im e Parame o Parame B3 = (b3~ ) Y15 (Y/Y19) By = (bg —by,p) Y15 (Y/Y19)
8 (6] Vy =S ' ter: Y My= ter: Y ag = a0 [(x-0,179/y] 1 ay = ag [(x—0,1711y] 1
b M S100E bg=bag [(Mpx+Dp)/] by=bao [(Mppx+bpy)/y]
=T 03 5250E -08 a90= 1, byg= ~0,4 A ag0= 1, byp= 0,4 A
g 4 Mp1=-0,974,=0.658 , 8 Mp=-0,169b5;=0.389 : \s
w < n=Co00 10 ' ' 10 n=Co00 10 ' ' 10
= 550¢,E = = - = =
o g ¢ 3 coo €00
= © 4B 5]
N =) =) 1 41
© ¥ s
o) & WBe S| [Ts g
S or any colour, Yyy=100, or anjy colour, Y,y=100, unsell System Yyy= unsell System Yyy=
o i A7 Fi | Yw=100, COO <|=a7 Fi I Yw=100, CO0 M IS Yw=100 M II'S Yw=100
- it max (fn) chromatic value?], i max () chromatic value?], =2,V=1, 2,5, b T =2,V=1, 2,5, b T
h i lue?] h i lue? C=2,Vv=1,2,5,8&9, C00 10 C=2,Vv=1,2,5,8&9, C00 10
a £ chromgticity diagram (ag, ba) o chromaticity diagram (ay, by) chroma (A*3, B*3) chroma (A*,4, B*)
BE150-5A_6 BE150-6A_6 BE151-5A_6 BE151-6A_6
= X X X X
_Ih 08 00 08 16 8=(x-0171)y 08 00 08 16 2=y X,=98,07,Y,,=100,007,7118,22 B, X=98,07,Y,,=100,007,711822 B,
) EeEE Xw=0,3100y,,=0,3161 110 Xw=0,3100y,,0,3161 10
635 10 s der Y As = (a5~ a.;) Y1g (Y/Y19)1/3 Ag = (85 ~ ag,r) Y15 (YY1 13
g o0 Parame e Bs = (b5 - bs,0) Y15 (VY1913 B = (o ~ b ) Y15 (/Y1913
ter: Y ' a5 =ag [(x-0,171/y] + g =g [x/Y]
@ M SRl bs=by [(Mp1x+bp1)/y] be=b0 [(Mp1x+bp )iyl
=, —O,é s ay=1, by=-04 A ax=1, byy=-0,4 A
~ Mp=-0,974b,=0.658 ' ' > mp;=-0,974,bp1=0,658 6
= n=C00 -10 10 n=C00 10
o C00
n
© 4
(=) 4
<
¥
~
o
le For any colour, Y\4=100, COO For any colour, Yw=108, C00 Munsell System Y,,=100 Munsell System Y,,=100
s [max (fn) chromatic value?], [max (m) chromatic valus?], C=2,V=1,2,5,8&9, C00 T-10 C=2,Vv=1,2,5,8&9, C00
£ chromaticity diagram (as, bs) chromaticity diagram (ag, Py chroma (A*s, B*g) chroma (A*g, B*g)
BE150-7A_6 BE150-8A_6 BE151-7A_6 BE151-8A_6

TUB-test chart BE15; CIEx, y) and chromaA*;, B*;) input: w/rgb/cmyk —> rgb

ndino juiid 13S0 Jo Juswainseaw o} uonesldde
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2525
M

For any colour, Yy=100, POO
[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

-0,8 0,0

0,8

1,6 agxly

20Tv)=s,

525Mm|-m575 600

MA=S)
-0,8 e
AR -1,6
9495¢,E
>
8
CIE 1931 X s
= 1
0,0 0,2 04 06 08 1,0 5
BE150-1A_7 BE150-2A_7
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 a=xly
Parame:
sosMmlms7s 600, 625 700 ter: Y
091= 495¢,E Parame 0.0Tv,=s, s2Mm Lmes
ter: Y 50
M= 500c,E A=S\ag
-0,8 -0,8
510c,E
525¢,E =
-16 3
o
=)
> 3
§ 4 550¢,E 4
o For any colour, Yy=100, P00 & For any colour, Yy=100, P00
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromgticity diagram (ay, by) &' | chromaticity diagram (ay, by)
BE150-3A_7 BE150-4A_7
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =(x-0,171)y
625 700
L 600P) 495¢,E —
o s2Mm —— Parame: o —stzgmemWS 600 Parame:
V=S © ter: Y M)=[5)80 525 700 ter: Y
510¢,E Re [asscE
M . 49 P00 500c,E
—O,é SERE(E -0,8 510c,E
525¢,E
4
= 550¢,E =
§ C § /. 550c,E
© 4B (32}
g & |1 Bem/ [Ts
£ £
¥ &
~ ©
o -
? & For any colour, Yyy=100, P00 <|=a7 For anly colour, Yyy=100, POO
s [max () chromatic value?], e [max (fm) chromatic value?],
£ chromaticity diagram (ag, bs) o chromjaticity diagram (ag, by)
BE150-5A_7 BE150-6A_7
-08 00 0,8 1,6 3=(x-0,171)y -08 00 0,8 1,6 =Xy
Parame:
625 700 cEt(-:-r: Y
0,0 - |
v Ea:_raYme 500c,E
510c,E
_'g|§ 525¢,E
=
@
8 4
(=)
£
NS Be
5 X
le For any colour, Y\4=100, P00 For any colour, Yw=108, P00
s [max (fn) chromatic value?], [max (m) chromatic valus?],
£ chromaticity diagram (as, bs) chromaticity diagram (ag, By

BE150-7A_7

BE150-8A_7

TUB-test chart BE15; CIEx, y) and chromaA*;, B*;)

515 o 525

520 Munsell System Y,=100

X,=102,06,Y,~100,00Z,~81,06 B,

08 My C=2. V=1, 2,5, 8 &9, POO %w=0,3604y,,=0,3531 10
510 rgstohe chromaticity diagram (x, y) Ao=@o-2g,) Yis (Y,Ym)ig
Bo = (bo —bo,r) Y15 (Y/Y19)
a9 = ago [x/y]
by = byo [2/4]
=1, byp=-04
Ao
t t b
n = P00 -10 10
00
y CIE 1931 X Munsell System Yy,=100
0.0 400 C=2,V=1,2,5,8&9, P00 -10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*))
BE151-1A 7 BEIS1-2A_7
X,=102,06Y,,=100,00Z,~81,06 B, X,=102,06Y,,=100,00Z,~81,06 B,
%w=0,3604y,,=0,3531 10 ¥w=0,3604y,,=0,3531 10
Ar=(@;-a1y) Yig (Y/Yla)lj?' Ay = (@2 =ag ) Yig (Y/ Yla)]';a
By = (by ~ by ) Yig (/Y1913 Bp= (0~ by ) Y15 (/Y1913
ay = apo [(x-0,17D/y] + 2y =ay [(x-0,179H] AL
by = by [2/4] b=z [(Mp1x+bpy)/y]
ay0= 1, byo= -0,4 A ap0= 1, byy=-04 A
mr;=1,000,b0,=0,171 \ AR M Mp1=—0,169,bp1=0,389 2
n = P00 _1'0 ) fo n = P00 -10 10
P00 00
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P00 T-10 C=2,V=1,2,5,8&9, P00 T-10
chroma (A*,, B*) chroma (A*,, B*))
BE151-3A 7 BE151-4A_7
X,=102,06Y,,=100,00Z,~81,06 B, X,=102,06Y,,=100,00Z,~81,06 B,
%w=0,3604y,,=0,3531 110 ¥w=0,3604y,,=0,3531 10
A3=(ag-agy) Yig (Y/Yla)ig Ag=(@g=agp) Yig (Y/ Yls)ig
B3 = (b3~ ) Y15 (Y/Y19) By = (bg —by,p) Y15 (Y/Y19)
ag = apo [(x-0,17D/y] 1 2y =ap[(x-0,179H] +
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
ay0= 1, byo= -0/4 ap0= 1, byo=-0,4 A
Mp1=-0,974.b;=0,658 \ PN 3 Mp1=—0,169 bp;=0.389 4
n = P00 _1'0 ) fo n = P00 -10 j 10
P00 P00
Munsell System Y,,=100 Munsell System Y,,,=100
C=2,Vv=1,2,5,8&9, P00 T-10 C=2,V=1,2,5,8&9, P00 T-10
chroma (A*3, B*3) chroma (A*y, B*,)
BE151-5A 7 BE151-6A 7
X,=102,06Y,,=100,00Z,~81,06 B, X,=102,06Y,,=100,00Z,~81,06 B,
%w=0,3604y,,=0,3531 110 ¥w=0,3604y,,=0,3531 10
As=(a5-asy) Yig (Y/Yla)ig As=(@s~agn) Y18 (Y/Yls)ig
Bg = (b5 —bs,p) Y15 (Y/Y1g) Bg = (b —bg,r) Y15 (Y/Y19)
a5 =ag [(x-0,171)/y] + ag = ao [x/y]
bs=hs0 [(Mp1x+bp1)/y] b=z [(Mpx+bp1)/y]
ay=1, byp=-04 A ay=1, byp=-0,4 A
Mpy=-0,974 b,=0,658 \ P oD mp1=-0,974,b,,=0,658 N N
n = P00 _10 ! 10 n = P00 _10 ! 10
P00 00
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P00 T-10 C=2,V=1,2,5,8&9, P00 -10

chroma (A*s, B*g)

chroma (A*g, B*¢)

BE151-7A_7

BE151-8A_7
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mirgstohe chromaticity diagram (x, y)
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Ao = (8o~ ag,r) Y1g (YY1 13
A
' 10
00
-10

a9 = ago [x/y]
by = byo [2/4]

=1, byp=-04

Bo = (oo~ bo,0) Y1s (Y/Y191/3

,
n = Qo0 -10

For any colour, Yiy=100, Q00 -0.8 0,0 0,8 1,6 ag=xly
M., [max (m_) (_:hro_mauc value?], Parame
chromaticityldiagraml(ay) 0.0 sosMmbmszs 600 625 700  ter: Y
Vm OTv,=S, P
50
MA=S)
-0,8 49
A -1,6
9495¢,E
>
8
CIE 1931 X s
= 1
0,0 0,2 04 06 08 1,0 5
BE150-1A_8 BE150-2A_8
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 a=xly
Parame:
s2sMmlms7s e0g. 625 700 M ter: Y
097 495cE Parame 00Tvy=5, 52V M Lmszs o P| 62
ter: Y 50 S5 _ 700
M= 500c,E M\=S)49
-0,8 -0,8
510c,E
525¢,E =
-16 3
o
=)
£
2 g
<8r T Sm|[Ts 550c,E i
o For any colour, Yy=100, Q00 & For any colour, Yy=100, Q00
i [max (m) chromatic value?], S | [max (m) chromatic value?],
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CIE 1931 X Munsell System Yy,=100
C=2,V=1,2,5,8&9, Q00
0,4 0,6 0,8 1,0 chroma (A*g, B*))
BE151-1A 8 BEL51-2A_8
X,=97,93Y,~100,00Z,~118,95 B, X,=97,93.Y,,~100,00Z,~118,95 B,
Xy=0,3090y,,=0,3155 20 Xy=0,3090y,,=0,3155 EST
A= (ay —ay ) Yag (VY1913 Az = (@ = 8y) Yag (VY1913
By = by~ by ) Yig (/Y1913 B2 = (0~ by ) Yag (Y/Y191/3
ay = apo [(x=0,17D/y] + 2y =ay [(x-0,179H] 4L
by = by [2/4] b=z [(Mp1x+bpy)/y]
a50= 1, byp=-0,4 / A a50= 1, byg = -0,4 A
my1=1,000,bp;=0,17, 1 Mp;=-0,169/0p:=0,389 @@ 2
n=Q00 -10 10 n =Q00 -10 10
Q00 Q00
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, Q00 T-10 C=2,Vv=1,2,5,8&9, Q00 T-10
chroma (A*,, B*;) chroma (A*,, B*))
BE151-3A 8 BEL51-4A_8
X=97,93Y,7100,00Z,~118,95 B, X,=97,93,Y,~100,00Z,~118,95 B,
Xy=0,3090y,,=0,3155 10 %y=0,3090y,,=0,3155 +10
Ag= (a3~ ag,) Yig (Y/Y19 13 As= (@g - ) Yag (VY1913
By = (bg ~ ba ) Yig (Y/Y19 /3 B4 = (g ~ by ) Yag (Y/Y191/3
ag = ay0 [(x-0,17D/y] 1 ay =ayo [(x-0,171)/y] 4L
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
ay=1, byp=-04 ay=1, byp=-04 A
mp;=-0,974,by,=0,658 n 3 mp;=-0,169,bp,=0,389 n A n 4
n = Qoo 10 ' @ 10 n = Qo0 10 ' ' 10
Q00 Q00
Munsell System Y,,=100 Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, Q00 T-10 C=2,Vv=1,2,5,8&9, Q00 T-10
chroma (A*3, B*3) chroma (A*y, B*,)
BE151-5A 8 BEL51-6A_8
X=97,93Y,~100,00Z,~118,95 B, X,=97,93Y,~100,00Z,~118,95 B,
Xy=0,3090y,,=0,3155 Lo Xy=0,3090y,,=0,3155 10
As = (a5~ a5 ) Yag (Y/Y191/3 Ag = (@5 = 8g) Y15 (Y/V191/3
Bs = (b5 ~ bs ) Y1g (Y/Y19 /3 Be = (5 ~ bg ) Yag (V/Y191/3
a5 = apo [(x=0,17D/y] + ag = ao [x/y]
bs=hs0 [(Mp1x+bp1)/y] b=z [(Mpx+bp1)/y]
ay=1, byp=-04 A ay=1, byp=-0,4 A
Mp=-0,974 b;=0,658 , 5 mp;=—0,974,bp,=0,658 6
n= Q00 -10 ' 10 n=Qo0 -10 10
Q00

Munsell System Y,,=100
C=2,V=1,2,5,8&9, Q00 T

r-10

chroma (A*s, B*g)

Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, Q00
chroma (A*g, B*¢)

BE150-7A_8
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TUB-test chart BE15; CIEx, y) and chromaA*;, B*;)
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